| bought three
Answer:

Al

from the clothing store.

She wants to buy two

Answer:

of bananas.

The shop sells many different

Answer:

of shoes.

We need to buy some

Answer:

for the party.

Can you get two
Answer:

of milk from the supermarket?

He bought ten
Answer:

of pencils for school.

She has five
Answer:

of socks in her drawer.

We need to find five
Answer:

of chairs for the living room.

They bought three
Answer:

of books from the bookstore.

| need to buy two
Answer:

of jeans for my trip.




| bought three
Answer: shirts

She wants to buy two

Answer: bunches

The shop sells many different

Answer: pairs

We need to buy some

Answer: snacks

Can you get two
Answer: cartons

He bought ten

Answer: packs

She has five

Answer: pairs

We need to find five
Answer: sets

They bought three
Answer: sets

| need to buy two

Answer: pairs

Answers

from the clothing store.

of bananas.

of shoes.

for the party.

of milk from the supermarket?

of pencils for school.

of socks in her drawer.

of chairs for the living room.

of books from the bookstore.

of jeans for my trip.



